Possible Solutions

a) Startat78. Count up by 1s and stop at 83.

Student should say, “seventy eight, seventy nine, eighty, eighty one, eighty two, eighty
three.”

b) Startat 119 and count back by 1s and stop at 98 (Remember there is no “and” when we say
119 because saying “and” implies there is a decimal point).

Student should say, “one hundred nineteen, one hundred eighteen, one hundred
seventeen, one hundred sixteen, one hundred fifteen, one hundred fourteen, one
hundred thirteen, one hundred twelve, one hundred eleven, one hundred ten, one
hundred nine, one hundred eight, one hundred seven, one hundred six, one hundred five,
one hundred four, one hundred three, one hundred two, one hundred one, one hundred,
ninety nine, ninety eight.”



